Gl =

2 AT RE R TT

4

(4x+3)3x+2)3x—1)

(4x—2)(2x—2)(2x+ 6)

6x — (4+ 6x)(x — 6)(6x + 1)

4+ 6x—3)(x+1)—2x +6

4x+ (6 — 2x)(x + 5)(4x + 4)

H #A:

(2x° — 4)(6x — 3) + 6x% +4x — 3

(Gx+ 5)(3x% +4x— 6)+ (2x — D)(x + 2)

(5x+ 1)(6x* —x— 2)— Bx + 5)(x — 5)

(x+ 5) + 5x— 6) + (4x — )(3x — 6)

x—(1—5x)(4x— 5)(5x+ 2)
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Gl =

2 AT RE R TT

W44

(4x+3)3x+2)3x—1)
36x° + 39x° +x— 6

(4x — 2)(2x — 2)(2x + 6)
16x° + 24x% — 64x + 24

6x — (4+ 6x)(x — 6)(6x + 1)
—36x° + 186x” + 182x + 24

(4% +6x—3)x+1)—2x+6
473 +10x% +x+ 3

4x+ (6 — 2x)(x + 5)(4x + 4)
—8x° — 24x* + 108x + 120

(2% — 4)(6x— 3) + 6% + 4x — 3
123 — 20x+9

(3x+ 5)(3x% +4x— 6) + (2x — 1)(x + 2)
9% + 2957 + 5x — 32

(5x+ 1)(6x° —x—2)— Bx + 5)(x — 5)
30x° — 2% —x+ 23

(x+ 5)(? + 5x— 6) + (4x — 1)(3x— 6)
X0+ 22x% — 8x— 24

x—(1—5x)(4x— 5)(5x+ 2)
100x° — 105x% — 32x + 10
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